MATH
Date Score: MSESR
(" Operations with Polynomials )

Perform the indicated operation(s)

1] (8b - 2)(3b%+ 2b - 2) (3x2-2x+1) + (-x>+3x + 1)

(-3m?+ m) + (4m? + 6m) (7a®?-a +4)-(3a?-4a-3)

(-3x2+6x3-4-x)+(2x + 1)

6] 2a(5a%+ 8a + 8) (-18p% + p-32)-(40 - 13p?)

-8w?y + (4w?y* - w?) O] (x-2)(x*-x + 3)

(5x3-13x%2-7) + (16x3 + 8x%- x + 15)




MATH
Date Score: HSHEE
(" Operations with Polynomials )
Answers
(1] (8b -2)(3b%+ 2b - 2) (3x2-2x+1) + (-x>+3x + 1)
24b3 + 10b% - 20b + 4 2x2+x+2
(-3m?+ m) + (4m? + 6m) (7a®?-a +4)-(3a?-4a-3)
m?+ 7m 4a*+3a+7
(-3x2+6x3-4-x)+(2x + 1)
5
2 _ i
3x“-3x+1 5% + 1
6] 2a(5a’+ 8a + 8) (-18p% + p - 32) - (40 - 13p?)
10a3 + 16a% +16a Sp2+p+72
-8w?y + (4w?y* - w?) O] (x-2)(x?-x + 3)
w?(-8y + 4y* - w?) x*-3x*+5x-6
(5x3-13x%2-7) + (16x3 + 8x%- x + 15)

21x3*-5x*-x+8




